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 LSE-05  

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2021 

LIFE SCIENCE 

LSE-05 : PHYSIOLOGY 

Time : 2 hours Maximum Marks : 50 

Note :  Use separate answer sheets for Part I and Part II. 

Be brief and precise in your answers. Draw neat 

and labelled diagrams, wherever necessary.  

PART I 

Animal Physiology 

Note : Attempt any five questions. Question no. 1 is 

compulsory. 

1. (a) Fill in the blanks with the appropriate word 

given in the parentheses.  31=3 

(i) Carboxypeptidase enzyme requires the 

presence of __________ (Calcium/Zinc) 

ion and trypsin.  

(ii) (Diffusion/Ventilation) __________ 

lungs are typical of vertebrates. 

(iii) (Hemoglobin/Myoglobin) __________ is 

found in striated muscles of 

vertebrates.     
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(b) Match the following :  4
2
1 =2 

 Column A      Column B 

(i) Sponges  (A) Peptide bonds    

(ii) Nereis    (B) Cellulose  

(iii) Proteases   (C) Pharynx armed  

     with chitinous jaws  

(iv) Plant   (D) Filtering sea water 

2. Explain the action of various enzymes that take 

part in protein digestion.  5 

3. Describe the mechanism of gas exchange in 

aquatic animals.  5 

4. Explain the hemostatic mechanisms in humans.  5 

5. Explain the molecular basis of muscle 

contraction.  5 

6. Describe the regulation of ovarian activity in 

vertebrates by implicating hormones involved in 

it.   5  

7. Write short notes on any two of the  

following : 22
2
1 =5 

(a) Chemical Synaptic Transmission  

(b) Pheromones  

(c) Regulation of Kidney Function  

(d) Angiotensin 
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PART II 

Plant Physiology 

Note : Question no. 8 is compulsory. Attempt any 

four questions from questions no. 9 to 13. 

8. (a) Fill in the blanks in the following  

statements : 21=2 

(i) __________ is a joint product of 

Rhizobium and the host during the 

maturation of root nodule.   

(ii) Long-distance water transport in a tree 

occurs through the __________ . 

(b) Choose the correct alternative from the 

words given within brackets : 2
2
1 =1 

(i) The Phytochrome Pfr absorbs  

(600/730) nm of light wavelength.    

(ii) Leaf of (wheat/maize) plant has Kranz 

anatomy.  

(c) Define any two of the following : 21=2 

(i) Osmosis  

(ii) Field Capacity  

(iii) Biological Clock  
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9. Describe F.W. Went’s experiments on Avena 

coleoptiles. What were his conclusions ?   5 

10. Explain the Z scheme of photosynthesis in brief. 5 

11. What are the criteria of essentiality of a nutrient 

element in a plant ? Discuss.  5 

12. (a) Describe the ultrastructure of chloroplast 

with proper diagram.   3 

(b) List any two micronutrients and mention 

their biological role in plants.  2 

13. Write short notes on any two of the  

following :  22
2
1 =5 

(a) Cytokinins  

(b) Water stress  

(c) Photorespiration  
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 Eb.Eg.B©.-05  

 {dkmZ ñZmVH$ (~r.Eg gr.) 

gÌm§V narjm 
OyZ,  2021 

Ord {dkmZ 

Eb.Eg.B©.-05 : eara-{H«$`m{dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> : ^mJ I Am¡a ^mJ II Ho$ {bE AbJ -AbJ CÎma-nwpñVH$mAm| 
H$m Cn`moJ H$s{OE & AmnHo$ CÎma g§{jßV VWm gwñnîQ> hmoZo 
Mm{hE & Ohm± Amdí`H$ hmo, dhm± ñdÀN> Ed§ Zm_m§{H$V AmaoI  
~ZmBE & 

^mJ I 

àmUr eara-{H«$`m{dkmZ 

ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & àíZ g§. 1 A{Zdm ©̀ h¡ &  

1. (H$) H$moð>H$m| _| {XE JE {dH$ënm| _| go Cn`wº$ eãX  
go [aº$ ñWmZ ^[aE :  31=3 

(i) H$m~m}ŠgrnopßQ>S>og EÝµOmB_ H$mo __________ 

(H¡$pëe`_/qµOH$) Am`Z VWm {Q´>pßgZ H$s 
CnpñW{V H$s Amdí`H$Vm hmoVr h¡ &  

(ii) ({dgaU/g§dmVZ) __________ \o$\$‹S>o 
H$eoé{H$`m| _| {d{eï> ê$n go hmoVo h¢ &   

(iii) (hr_mo½bmo{~Z/_m`mo½bmo{~Z) __________ 

H$eoé{H$`m| H$s ao{IV no{e`m| _| nm`m OmVm h¡ & 
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(I) {ZåZ{b{IV H$m {_bmZ H$s{OE : 4
2
1 =2 

 H$m°b_ A  H$m°b_ B 

(i) ñn§O (H$) noßQ>mBS> Am~§Y 

(ii) Zrarg (I) goë`ybmog 

(iii) àmoQ>rEµOrµO (J) H$mB{Q>Zr O~‹S>o 
    `wº$ µ\o$[aŠ̈g  

(iv) nmXn (K) g_wÐr Ob H$m  
    {Zñ`§XZ  

2. àmoQ>rZ Ho$ nmMZ _| ^mJ boZo dmbo {d{^Þ E§µOmB_m| H$s 
à{H«$`m H$s ì`m»`m H$s{OE &  5 

3. Obr` OÝVwAm| _| J¡g {d{Z_` H$s {H«$`m{d{Y H$m dU©Z 
H$s{OE &  5 

4. _Zwî`m| _| hr_moñQ>o{Q>H$ {H«$`m{d{Y`m| H$s ì`m»`m H$s{OE & 5 

5. _m§gnoer g§Hw$MZ Ho$ AmpÊdH$ AmYma H$s ì`m»`m H$s{OE & 5 

6. H$eoé{H$`m| _| {d{^Þ hm°_m}Zm| H$s ghm`Vm go {H$g àH$ma 
AÊS>me` H$s J{V{d{Y H$m {Z`_Z hmoVm h¡, CgH$m dU©Z 
H$s{OE &  5 

7. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±>  

{b{IE :  22
2
1 =5 

(H$) amgm`{ZH$ AÝVJ«©WZr g§MaU$  

(I) \o$amo_moZ 

(J) d¥ŠH$ Ho$ H$m`m] H$m {Z`_Z 

(K) EpÝO`moQ>opÝgZ 
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^mJ II 

nmXn-H$m{ ©̀H$s {dkmZ 

ZmoQ> :  àíZ g§. 8 A{Zdm ©̀ h¡ & àíZ g§. 9 go 13 _| go {H$Ýht 

Mma àíZm| Ho$ CÎma Xr{OE &   

8. (H$) {ZåZ{b{IV H$WZm| _| [aº$ ñWmZm| H$s ny{V©  
H$s{OE : 21=2 

(i) __________ amBµOmo{~`_ Am¡a nanmofr H$m EH$ 
g§`wº$ CËnmX h¡ Omo _yb J«§{WH$m Ho$ n[anŠdZ Ho$ 
Xm¡amZ ~ZVm h¡ &  

(ii) no‹S>m| _| bå~r Xÿar VH$ Ob n[adhZ 
__________ Ho$ Ûmam hmoVm h¡ &  

(I) H$moîR>H$m| _| {XE JE eãXm| _| go ghr {dH$ën  

Mw{ZE : 2
2
1 =1 

(i) \$mBQ>moH«$mo_ Pfr (600/730) nm H$s àH$me 
Va§JX¡Ü ©̀ Ademo{fV H$aVm h¡ &  

(ii) (Joh±ÿ /_ŠH$m) nmXn H$s nÎmr _| H«$m§µO g§aMZm 
nm`r OmVr h¡ &  

(J) {ZåZ{b{IV _| go {H$Ýht Xmo  H$s n[a^mfm Xr{OE : 21=2 

(i)  namgaU 

(ii) Z_r YmaU j_Vm (_¥X² Ob Ym[aVm) 

(iii) O¡dK‹S>r 
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9. E\$.S>ãë`y. d¡ÝQ> Ho$ OB© (AmdrZm) àm§Hw$a-Mmobm| na {H$E JE 

à`moJm| H$m dU©Z H$s{OE & CZHo$ Š`m {ZîH$f© Wo ?  5 

10. àH$me-g§íbofU H$s Z `moOZm H$s g§{já ì`m»`m H$s{OE & 5 

11. {H$gr nmXn _| nmofH$ VÎd H$s A{Zdm`©Vm H$s H$gm¡Q>r Š`m 

h¡ ? {ddoMZm H$s{OE &  5 

12. (H$) ŠbmoamoßbmñQ> H$s namg§aMZm H$m dU©Z `Wmo{MV {MÌm| 

H$s ghm`Vm go H$s{OE &   3 

(I) {H$Ýht Xmo gyú_nmofH$m| H$s gyMr ~ZmBE Ed§ nmXnm| _| 

CZHo$ O¡{dH$ àH$m`m] H$m C„oI H$s{OE &    2 

13. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{já {Q>ßn{U`m±  

{b{IE :  22
2
1 =5 

(H$)  gmBQ>moH$mB{ZZ| 

(I) Ob VZmd 

(J) àH$me-ídgZ  


